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Instructions to the caing m’mm

01

1)
2)
3

3)

Fill in the blanks by selecting suitable choice (any 6):

1)

)

)

v)

V)

Vi)

Vi)

Vi)

Questien No, I and Question No, 6 are compulsory.

Solve any 3 (Three) questions from Um's.'mn No. 2 to Qm'mwr No. §.
Figures to the right side indicate Jull marks.

6]
and are the two components of capital market.
(SEBLand NSE, BSE and NSE, Primary \I‘uku and Secondary Market)

Primary Market is a market where

(New shares are traded. Second hand securities are traded, Only short
term securities are lradcdl :

The capital raised by issue nf shdm 1S I\nu“ n as
(Finance, Share Capital-Bank Dcpu\'i!s‘)

The person who hold thg ehz'ru: of the company is the of the
company.

(Owner, Debtor, Creditor) ¢
Treasury Bills M: nrku 1s a market for treasury bills W hich ha\'c'?

—_—

maturity. |

(Short term, Long term, Medium term) |
is the actual capital received by the Lumpan\ on c.llion shares.

(Subscribed Capital, Paid up Capital, Called: up Capnal)

Cash Credit is given for a period of __year.

(One, Two, Three) '

Overdraft is given for a

(Short Period, Long Period. Medium Pcrmd)

PTO.



02) What s Capital Marke

t? Explain the ChdrdLlLrlsllCS and Functions of Capital
Market.

[14]

03) State the meaning of Secondary M

arket and explain the Objectives and
Functions of Sccnmhrv M'lrku

[14]

Q4) What do you meary by \/lutual Fund? Explain the Functions & Types of Mutual

Fund. [14]
035) State the Backgrmmd-of’SliBI and explain the Powers of SEBL. [14]
Q6) Write short notes (Any 2) : [12]

a)  Preference Shares

b)  Over the Counter Exchange oflndla (OT(.,l l)
¢) - Credit Rating B 0 )”

d) - SEBI approved Financjal Advisc}
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Instructions to the candidates

D Question No 1 and 6 are compulsory.

2 Solve any three questions from O.No. 2 o O.No. 5.

3)  Figures to the vight indicate full marks.

01) Fillin the Blanks by selecting a suitable choice (Any 6); [6]

a)  Enterprises in o . are.given more lax concessions.

) Service sector . i_ii Automobile
i) SEZ W o V) LIT
b)  The effort to unite the n_ulilukn‘;‘oi' \th;:_'wur!d comes from :
i) Privatization ‘% “ 3 )" Liberalization
i)  Globalization ‘ L iv)  Modemization ~

c) is a political factor affecting the economic environment. o
i) Type of Economy i) Infrastructure

N : . SN

i) The role of Bureaucracy Iv)  Banking Facility

d) is a situation in which a large number of business firms sell the
homogencous products. ~ A

-

i) Monopolistic Competition i) Duopoly
i) Perfect competition iv). Molnop(;ly

. L"'-—*" ~ 7 .
c) is the major problem of small and’ cottage industry.

~

i) More skill labor i) '_M&rcsclling

ii)  Raw material V) More finance

N PTO.

"~



f)  Multinational companies have their headquartersin
1) America ) Every country
m)  Their own country iv)  Other country

2)  Cement production in India started in

D 1935 '_ i) 1921
i) 1904 iv) 1947
h) ~_industry laid the foundation of India’s industrial economy.
1)  TheAutomaebile )  Process
i) - The textile iv) Cement

2) Whatis an economic environment? Explain the role of cconomic environment
in economic development. [14]

03) State causes of industrial imbalance in. hﬂm dl‘ld write measures to remove
industrial imbalance. - [14]

04) What is Privatization? Explaini arguments for and against of privatization.[14]

" S

Q35) Write definition of In fommtmn chhnolop.' industry. Explain problems of IT

rd

industry in India. s l”l

06) Write short notes (Any T\xf(ij: 2
a) Technological fz’qc;tjo'r‘.é affecting economic environment™ .7
b) Present Simmitj'n'of public sectors,
c) Problems of special economic zone. ~0 . Y

d) Problems of tourism industries in India. ' ‘

VOV -
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Time : 3 Hours) )~ [Max. Marks : 60
Instructions to the t'uu-;'r'du_r;a;

1) Question-No. I'and question No. 6 are compulsory. o A

2)  Solve any three questions from questions No. 2 10 questions No.'§

3)  Figures to the right side indicates Jull marks,

Q1) Fill in lhc blanks by selecting suitable chojce (any 6 out of 8). [6]
a)  In game theory, the outcome or consequence: of a strategy is referred as
A the ) &
. i) Penalty .*~IL“"ii) -~ Pay off
i)  Reward -\\“" ‘iv)" end-game strategy
b) A mixed strategy game can be solved by
i) Simplex method ™ i‘ii) Hungarian method
i)  Graphical mcthod ' i) Degeneracy ':\:"'
¢) Foramaximization pmblun objective function coefficient for an uniﬁci;ﬂ“
variable is U L3
) +M RS i 0
i) —1 iv) -M WK
d) A setof fCﬂb]bIC so]uuon to a lincar programming problem 15
1) Po]yg_.,on i) trmn;,lu — '- e
i) bold V) convex>" N

¢)  To find initial basic feasible solution of a T I\ihc method which starts
allocations from the lowest cost is called method.

i)  north west corner i) | -South €ast corner
i) least cost ) \’oEcI S approximation
f)  Ina T.P the method of penaltics is called -
i) least cost ii)_ d'ogcl’s approximation
i) north east corner rule v) . Hungarian method
{} - PTO.

N



£ isanev ent oriented network dmgr‘lm

) PERT
m  CpM
h) An activity w

: ii) Histogram

iv)  Ogive

hich doesnot consume citherresource ortime iscalled

) Pre edecessor activ |l}, ) Successor activity
i) Tunmndlauwllv iv)  Dummy activity
02) Attempt any lwo of* lhc follume [14]
a)  Find IBF ‘s of the follumn" transportation problem using North west
corner inethod Also find thc transportation cost. ’
:ﬁblnmtmn _
> Al B C D| E| Supply
Origin | l
P 2] Tul Dol [3] [7] 4
S Q L T4 N7 =2 L1]
R B N7l 18 2l 9
| Demand -3 3] "_‘t'-ld 5 6
. 4'45 “~ N ;
b) Solve the following L P.P-hy grnﬁhlml method
Minimize 7= 40r 4‘:"3&1 \‘x
Subjectto x <8 " \
x,<10 \: 4_\
5x,+ 3x,245 S
R S
TI, .1'.,-.2 0 G , ._‘A\*
. ~ st . . AT D
c) Explainrules oﬁdnmlnanceln game theory. NS
03) Attempt any two of the following. Q\\ ~ : [14]
. @ Qs
a)  Write the dual of the following L.P.P, -..‘:'” N\
Maximize (Z) = 5x, + 7x, ‘?*-\:; N
Subject to  x +x, ; 4 N Y) An‘:;
3x+ 8x,< :
I - \‘}"
10x,+ 7x,< 35 ™
\l
.'-\'I, .\'2 20 p\

[5956]-403



b) Obtain IBFS of the fDlIO\\]nL‘ TP, ll"'-lni, matrix minima method. Also find
thc 1€ transportation cost,

\\Dcstm'll:on T
D D) D D,| Supply
Origin \ ) 1INE { ) "
SR A N L
2 ____‘_v: *‘r 7 L?[ u
S D T B
I)clnund__ s 6 34 25 -
c) Finq ‘m.i_ninuun_cbst spanning tree for the following network.
B -4 ()
lf\l‘ 18 l I‘“.i /
L ~ = c e ) 7
" t 1¢ A e
" 22 3 ™ :"’ S
N AN M
0Q4) Attempt any two of the following. ~. ‘N [14]

a)  Solve the following assignment brob]_f:m_lo minimize the total cost.

a b e T du e
1160 130 .75 190" 200]

m|135 1204430160 175

11 140 110 155 170 185 =
IV| 50 50 80 80 110 S
V| 55 35’*: 70 80 105 \ ,-‘-:\“

b) Define network Expl‘un what do you mean by dl[‘!..{..lt.d and LlndlrthLd
network? Also exphm the terms Node and Are.~_ )

c) Determine the saddle point and optimal %tmlu*u,s for. each player’. Also

find value of the game. ;} A
Player B _) S
onom A
I({-4 =3 0 A
PlayerA 1If 3 0 3 \5’“
mi6 -3 4]
o)
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05) Attemptany two of the following, > [14]
a)  Discuss the various steps mvohcd in the application of PERT and
CPM.

b) Solve the following L.P.P. by ~|mpic method
Minimize  (2)= 1‘;:-1 +2x,
Subject to "n o, + 3w < 7
1 +41 < l"
~ 4'( +-31 +‘§\ <10

\I,:\.ﬁ,_u >0

c) Solvethe foli@\\-'ing assignment problem for maximization.

-,

\ o 7

.~ A B C D &
- P[42 35 28 217
Q|30 25 20 15
R[30 25 20 15| i
. o} ™ R
& S|24 20 16 12_“.', ot
~ A T
Q6) Attempt any two of the following- O A - [12]

a)  Draw the graph and hlg,hlmhl thL ft.'lblble region for the given constraints
x+tx,<2and 2x +y >3

_._..

b) Write Lanomcal fomohhe fo]lome LPP.

._\

Maximize (Z)—lﬁtﬁi—rm v R
: >
Subject to x +2x,< 10 <Y
2x,+ 31 —*12
X, + X, >3 N
X, J_’ 0 N <

‘-'l

c) Explainthe i"nl]owmg lerms with reference to tranf;pqn'atmn problcm

i)  Balanced T.P. \1_*.. N
i) LB.F.S. - Q- &
i)  Optimal Solution o '

d) 1)  Explain Minimum cost C‘lpacu'ucdnctworkx
i)  Give model difinition of Max-mih networl\s

S
o
4:1» o Q-:Q\I\C
P.\ o
.
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